Db-Killer N.59B
Cod.3014228803

Carbon brackef,

c0d.0814353001

Aluminium spacer
D25XH18XD8.5
Cod. 200617

E13)92r-01 10401

OR

@ 92R-02 10401

Aluminium spacer
Cod. 205771

FACTORY S silencer RHS
stainless steel black
1C0d.3014353485

270

Carbon clamp FR2
c0d.308448501

D27X P 6.5
Cod. 205767

Aluminium spacer

Allen screw MéX40
T.C.Z.B.
Co0d.200790

2x Short helical
spring tensile

cod. 303949001

DO NOT USE

Knurled collar nut
M6 Cod.200333

Aluminium spacer
230X219.5X@14.5 H11.9
Cod. 206680

ORIGINAL PARTS:
TO PERMANENTLY
REMOVE

2X rubber spacer

Cod. 204237

Cod.200321

2x Plain washer @ 8x @ 24

Cod.206008

Screw M8X16

Screw M8X30
Cod.202491

Screw M8X16
Co0d.200360

Heat shield
cod.083777001

Pipe N°1352 s.s

cod. 3014353201

ART. 14353SB

4x Gasket
14x4.9x1.5
Cod.200371

Plain washer

O8xD17
Co0d.200294

S.s bracket "SP1"
Prod.305211501

Purch.cod.200619

Nut M8
\ [C0d.20029&

2x Plain washer
5x15 Inox

Cod.406580

2X Mounting
plate M5 Z.B.
Co0d.204555

MS5X12 T.B.E.I.
Cod.201031

2x Allen screw

Strap in S.5.253
Cod.300053530

BMW F 900 R / XR (also fits 35kW version) (fits with original centre stand)

SLIP-ON - FACTORY S - BLACK - APPROVED



	DT-14353SB
	Vista del disegno1
	Vista del disegno2
	Vista del disegno3
	Vista del disegno4


